
Prva �kolska zadáca - ISPRAVAK
(WD)

1. Skrati razlomke

A.
a2n � 4an + 4

an � 2 B.
x2n + 6xn + 9

xn + 3

1. Rje�enje:

a)

a2n � 4an + 4
an � 2 =

(an)2 � 2 � an � 2 + 22
an � 2

=
(an � 2)2

an � 2 = an � 2

b)

x2n + 6xn + 9

xn + 3
=

(xn)2 + 2 � xn � 3 + 32
xn + 3

=
(xn + 3)2

xn + 3
= xn + 3

2. Za polinome

A: P (x) = 3x2 � 2x� 2 i Q (x) = �x2 � 2x+ 1
B. P (x) = �2x2 + 3x� 2 i Q (x) = 2x2 � 2x� 1

Example 1 odredi

P (x) +Q (x) ; P (x)�Q (x)P (x) �Q (x)

Rje�enje:

A.

P (x) +Q (x) = 3x2 � 2x� 2� x2 � 2x+ 1 = 2x2 � 4x� 1
P (x)�Q (x) = 3x2 � 2x� 2�

�
�x2 � 2x+ 1

�
= 3x2 � 2x� 2 + x2 + 2x� 1 = 4x2 � 3

P (x) �Q (x) =
�
3x2 � 2x� 2

� �
�x2 � 2x+ 1

�
= �3x4 � 6x3 + 3x2 + 2x3 + 4x2 � 2x+ 2x2 + 4x� 2
= �3x4 � 4x3 + 9x2 + 2x� 2
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B.

P (x) +Q (x) = �2x2 + 3x� 2 + 2x2 � 2x� 1 = x� 3
P (x)�Q (x) = �2x2 + 3x� 2�

�
2x2 � 2x� 1

�
= �2x2 + 3x� 2� 2x2 + 2x+ 1 = �4x2 + 5x� 1

P (x) �Q (x) =
�
�2x2 + 3x� 2

� �
2x2 � 2x� 1

�
= �4x4 + 4x3 + 2x2 + 6x3 � 6x2 � 3x� 4x2 + 4x+ 2
= �4x4 + 10x3 � 8x2 + x+ 2

3. Kvadriraj binome

A. a)
�
1

2
a� 3

4
b

�2
; b) 3 (a+ 2)2 � 27

B. a)
�
2

3
x� 3

2
y

�2
; b) 2 (x+ 3)2 � 32

Rje�enje: A. �
1

2
a� 3

4
b

�2
=
1

4
a2 � 3

4
ab+

9

16
b2

3 (a+ 2)2 � 27 = 3
�
(a+ 2)2 � 9

�
= 3 (a+ 2� 3) (a+ 2 + 3)

= 3 (a� 1) (a+ 5)

B. �
2

3
x� 3

2
y

�2
=
4

9

2

� 2xy + 9
4
y2

2 (x+ 3)2 � 32 = 2
�
(x+ 3)2 � 16

�
= 2 (x+ 3� 4) (x+ 3 + 4)

= 2 (x� 1) (x+ 7)

4. Kuiraj binome

A. a) (2a+ b)3 ; b) 8x3 � 27y3

B. a) (x� 2y)3 ; b) 27a3 + 8b3

Rje�enje:
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A.
(2a� b)3 = 8a3 � 12a2b+ 6ab2 � b3

8x3 � 27y3 = (2x� 3y)
�
4x2 � 6xy + 9y2

�
B.

(x� 2y)3 = x3 � 6x2y + 12xy2 � 8x3

27a3 + 8b3 = (3a+ 2b)
�
9a2 � 6ab+ 4b2

�
5. Zbroji algebarske razlomke i dobiveni rezultat skrati:

A.
�
a+ b� 2ab

a+ b

�
:

�
a� b
a+ b

+
b

a

�

B.
�

a

a+ 1
� a2

a2 � 1

�
:

�
a2

a+ 1
� a3

a2 + 2a+ 1

�
Rje�enje:

A. �
a+ b� 2ab

a+ b

�
:

�
a� b
a+ b

+
b

a

�
=
(a+ b)2 � 2ab

a+ b
:
a (a� b) + b (a+ b)

a (a+ b)

=
a2 + 2ab+ b2 � 2ab

a+ b
:
a2 � ab+ ab+ b2

a (a+ b)

=
a2 + b2

a+ b
� a (a+ b)
a2 + b2

= a

B. �
a

a+ 1
� a2

a2 � 1

�
:

�
a2

a+ 1
� a3

a2 + 2a+ 1

�
=
a (a� 1)� a2
(a� 1) (a+ 1) :

a2 (a+ 1)� a3

(a+ 1)2

=
a2 � a� a2
(a� 1) (a+ 1) :

a3 + a2 � a3

(a+ 1)2

=
�a

(a� 1) (a+ 1) �
(a+ 1)2

a2

= � a+ 1

a (a� 1)
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